| Efficiency vs Dxy |

.02
<
o
®»018
>

@016

Q) -
@014

=
(5]

0.012

0.01

0.008
0.006

0.004F

0.002

Ratio

<9
2

15

...................................
...................................

....................................
....................................

------------------------------------

-----------------------------------

—2520151050 510152025

TP dxy (cm)

| Efficiency vs Dz |

10.05
$045
co 04
ans

0.03
0.025

0.02
0.015

0.01

0.005

o

TRV

—=— DQMstep3_SMS_CKF
—e— DQMstep3 _SMS_default

............................

—— DQMstep3_SMS_defaultNEWT

......

2030
TP dz (cm)

10




	Contents
	Page 1


